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The reason of »'9 is as 77", etc. — 9912 K17 2972 IR 297 NAYY

OVERVIEW

X117 27 maintains that 12%p% 7°9% PX 1200w “wwa a7, If the M admits that
the "ww was written with his consent (he borrowed the money from the
mon), however he already repaid the loan; he is not believed. The m>» can
collect the loan from the Mm% without authenticating the “vw. Even though, if
the Mm% would have claimed 7>, the m%» would be required to be a»pn the
7vw, nevertheless (according to 71'") this 1 of 7™ is not effective and the
MY must pay if he claims *ny9.! Others argue with X177 27 and maintain that
PP TIX 12ANOW Tvwa a7 and unless the M2 is o»pn the W, the MY is
believed to claim *ny75 with the 1 of A,

Our X713 maintains that the reason n"1 is of the opinion that the 7V are not
believed to claim '121 11777 0°01K is because »'"7 agrees with X117 27 (that 77
MR TIX PR 1200w 0wa). It is not clear how this explains the reason of 2.
There is a dispute between *"w7 and M0N0 how to explain this Xna.
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>"w9 explained that the answer why »"9 maintains that the 27V are not

believed is because their argument (between 71271 1) is in a case where
the /7% admits that he wrote the "ow —
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And that is the reason of »''1 that the 07 are not believed to claim 2°01X

11077 (or 1> 7Y °91091 0°1vp) and nullify the qvw, but rather the “vw is valid

and the m%n can collect with it, is because since the /%% authenticated the

qvw, by admitting that it was written with his consent, there is no further

need for the 2°7Y to authenticate the “ww, for the M already authenticated it by

admitting that it was written with his consent —
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Therefore the 2uw is not authenticated by their testimony; but rather by the

! See following 77 117 maon for reasons why the 71 is not believed with the 1 of m.

2K "7,

3 The m? is claiming that the loan is paid up, and therefore the quw is void. The o>y are (also) saying the
0w is void; since we were 0°01IX there never was a valid 2vw. The question here is whether the m%» is in
possession of a valid 7vw, which, in turn, will deny the 7% a claim of *nv19. See ‘Thinking it over’ # 1.
41"1 agrees with 71" that 12»p% 7% 1°X 1205w w2 7711; the admission of the mM» makes the ovp.
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admission of the mM%. Once the 0>y are not necessary for 20w 01p, there is no NoORW 797.
They are now challenging an independently valid "vw. Their testimony cannot be accepted.
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And the 3239 maintain that it is necessary to authenticate a qvw that the m»
admits to have written; otherwise the Mm% can still claim °ny19, and be exempt from
paying. Therefore, this 70w still needs the authentication of the o>7v. Without their o1p,
the m>n cannot collect. The 0°7y are therefore believed with a qoxw n57; for they could
have withheld their entire testimony, and the m7» would not be able to collect.®

moon has a difficulty with this interpretation:
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And the 5" has a difficulty accepting this interpretation for if this were
so0; that the MY is admitting to the loan and the argument between 7121 "1 is
whether the admission of the Mm% is considered a orp, let 13271 »"1 argue
without 2°7¥ claiming that "2 117 2°01K, but rather they should argue by
the m® himself. Their argument should be what the 1>7 is if the m? claims
nNyID against a W which is not 2™pn, since their reasoning whether to

believe or not to believe (the o>7v) is dependent on the m; whether his
admission creates a 01p or not. Nothing is added when we insert 27y in this dispute.
According to n"1 we do not believe the 079 because the admission of the m? is sufficient
ovp. According to the 7127 we believe the o7y because the admission of the 1% is
insufficient avp. It all depends on the 1205w w2 77 of the M>. The 0>7v are superfluous!

moon has an additional question on >"w":
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And furthermore it seems from the X7 in n»w s» P99 that 1312 1" do

not argue when the % is 1anow 77, whether 1%>°p% 7% or not (as >"v1 indicates) —
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For >"1 said, ‘that I say that the ruling of 1»p% xR 12now wwsa 77 all

agree to it’ [we do not consider the w» of the Mm% to claim 7™ to be sufficient to
require 21°p].

3 >"w1 does not state this. This may be an inference of Ma0In in the understanding of *"wA. See 7"w 2"
('9102) who maintains that "9 can follow the opinion of the 2"2w" there in 2"2. The 0"aw" maintains that
the 1327 agree to »" that P2 ¥"R 12n2W W2 77n; however that is when only the M7 claims >ny-». In a
case (like our mwn) where the o°7v support the contention of the M7 that the 7w is invalid, the 7120
maintain that the 07V (together with the m?) can be 501 the Tww. 2w w"»Y. According to the 7"w 0"7mn all
maodIN questions on *"w1 are nonexistent.

¢ See ‘Thinking it over’ # 1.

7 See ‘Thinking it over’ # 2.
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And v°p% w1 challenges this statement of >3 but they do argue concerning
121 12n5w w1 a7, for we learnt in a Xn*°72 that 17 maintains they are not
believed to invalidate the "uw [the qoxw 7197 is insufficient] and the 2’251 maintain
that they are believed to invalidate the qvw [the qoXw 797 is sufficient]. The X3 in this
question assumes that just as 71271 »" argue whether the 70Xw 7577 of the 2>7v is sufficient
to nullify the 2vw, they also argue whether the 11 of the % is sufficient to nullify the qvw
with the claim of *ny5. To which 33m° "7 responded and —
=119095 D2 1IN NIOY SIMNINT 1Y 97N N 1P MMIN
said to wep® wHn if witnesses are sufficiently powerful to nullify a ww,
(according to the 1127) is he (the m?) also to be believed and nullify the "vw?!
>3 maintains that when a Mm% claims >ny19, the 7 is not sufficient that we should believe
him. However when two 2°7v claim "1 17 2°01K, then the noXw 791 is sufficient to
believe the 0>7v and nullify the 7vw (according to the 1127). We derive from this &7n3 that
(according to *"1) both n"1 and the 13127 maintain that 1°°p% 7% X 1205w Wwa 77%. How
can *"w7 maintain that the 13127 claim 7°°p% 7°7¥ 1200w “Ww2 777 and that is the reason
why the 07 are 120197 a°anKa.

mooIn has one final question on *"wA :
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And furthermore the X723 should have said that 131271 »"9 are arguing

about the ruling of 7", n" agrees with 7" and the 1121 disagree. Why does the
X7m3 say that X117 2772 "7 Xovw?!?

m»on now offer his interpretation:
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And the n'"'9 and the 3''1 say that this is the interpretation of the answer;

the reason that »''% maintains that 2°181 X is like 77''9 —
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That just as "9 maintains that we do not accept a w» for the m» to

invalidate the "vw —
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8 The expression ®1177 1773 implies that it is similar to (but not exactly the same as) X117 27. However
according to *"w" the reason of "1 is precisely 71", not (only) similar to 7".

 According to MpoIN we are discussing a case where the M7 is not 77w that he wrote the 70w [the M? is not
claiming °ny19]. For if the m? is 777 and we are assuming that ¥>>p% ¥"R, the 1327 would not maintain that
the 0*7v are believed to say 177 D°0NK, after the M7 was 0»pn the qvw. On the other hand we cannot assume
that the MY is claiming 7> 1. For if the 77 is claiming 7> then the 0w is worthless (1127177) without o1p.
Why would »"2 maintain that 23281 X, since the 2>7v have a valid 7oRkw 797?! See » MR 7"210, who
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n''9 says the same thing also applies to 2°7¥ who wish to invalidate the
Tvw; they are not believed; even though 237 are more powerful than a m?,

nevertheless they cannot invalidate a suw with the power of a 1, just like
the Mm% cannot. The 13127, however maintain (as °"1 explained in 2"2) that we cannot
compare 2°7¥ to a M>. The power of a MY is limited; therefore his 1 cannot invalidate the
"uw. However, 0°7v are more powerful and they can invalidate a "W if there is a 2.

SUMMARY

"7 maintains that the dispute between 1127 "1 is in a case where the m?
claims °ny79. The 0°7y are not believed to claim 11°°7 0°01K according to 2",
since he maintains that by saying *ny15 the 20w is 2pn. The 13127 maintain
that >ny12 1s not a 012, therefore the 0>7v retain the “0XW 1157.

Mmoo asks; a) 1321 n'" should argue by the Mm% without 2*7v, b) 131 ' says that
11271 1" both agree that 2"sxwan, and c) it should have said *3797p X177 2972,
Nv0IN maintains that it is a case of 77w MY X, and »"1 maintains that
neither the MY nor o°7¥ can invalidate a WY with a W, while the 1327
maintain that 2°7¥ can invalidate a qvw with a 1.

THINKING IT OVER

1. According to *"w9, the M7 admits that the "vw was written with his
consent (he claims °ny19). How can the 7127 maintain that the 27y are
believed to testify 177 2°01R,!° when the MY contradicts them and admits
that it was written with his consent?!!!

2. Mmoo asks that according to *"wA why do 1327 n"1 argue about 7. 2

Perhaps they argue about o°7¥ to let us know that, according to n"9, even if
the 0°7¥ wish to invalidate the 7w, they are also not believed. Alternatively,
they argue by 0>7v to let us know that even though the 7% admits that it was
written with his consent (it was not a situation of 2°01X) and the o°7¥ also
admit that 77 X317 °"nd, nevertheless the 1327 maintain that they can invalidate
the 70w by saying 1177 2°01K?

explains that the 777 is not present, or that he (also) claims that 1’77 201X, See ‘Thinking it over’ # 2 in the
following 777 7"7 MdOIN.

10'See footnote # 6.

1 See nxapn mow.

12 See footnote # 7.
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